
ESE3700 Lec 20 Preclass/Inclass Worksheet Spring 2024

1. What is the step response (voltage on top plate of capacitor)? Draw the general shape.
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2. The RLC response is given as VC = VS +Be(−
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. For what values of
R does this oscillate?

3. Inductance of a PCB Trace over a ground plane: L ≈ l
(
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w

)
• Height above ground plane: h = 3mil (1 mil = 0.001 inches)
• Width of trace: w = 5mil
• µ0 ≈ 1.26× 10−6 H/m
• µr ≈ 1.0

Per centimeter of PCB trace, how much inductance?



4. What happens at V1 when the input switches?
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5. What happens to V2 when V1 switches?
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6. What happens to V2 when V1 switches?
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